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all above ans is not necessary answer below the line is the main answer reduce the size of the headings 
however these theories can be explained in a bit shorter way
or briefly
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dear student half of the answer is the heading size rest is the answer required however answer is relevant and understood by you main idea is picked but the main demand of answer of time and place debate is much less than it should have been
need more examples and discussion
overall acceptable but not impressive 8/20
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capacity means ability and competency not space
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these are not policy opinions or suggestions 
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repetition of the same point
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this is Ans is unnecessarily long and suggestions are given are not satisfactory
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explain in the context that how it will reduce the crime rate
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this answer is better comparatively
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this is not asked
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this is the main answer
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